All results for Dysprosium isotopes

Dysprosium 136 (Z=66, N=70) Dysprosium 137 (Z=66, N=T71)
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Dysprosium 138 (Z=66, N=72) Dysprosium 139 (Z=66, N=73)

[y T T T T @ gl e T T T @ el
L 4 o Protons P Protons L 1 = Protons o~ Protons
B Saf Newons] o Neutons B Sa Reuons] of Reons ]
/ < « /1 € / g N < J1 &
ok & 25 r Sos N S -AN\N 48 / Zoo
Q 5 &% 1T * & S N T 1T
Protons € Protons N €
N, Neurons = I\ N\, Neurons et = = feazad
4 B J £ B ] I . / 0 5 1 15
ITNTAI TRV T s ANV 1 (fm)
s s
R L T o Protons g Ualaiai s R Lt e T o Protons 4 T Proons _ Neurons.
3 Neutons : Neuons o ] ]
L opoons 4 Zd 4~ Protons Zaril IPS
Neutrons St 1 - Neutrons S
] °
1 I L 2 g L L L Lu 3
T T ® =7 ; Aanan ®
2100 w o E
- q s 10- 1 s
af P
ol | ol
A < T N L < e
= R S Re
: B A
< R wik 350 s A R T 3
o8 i 2 S04 | 2
a Wl O \ w
s Ed g < s g
ad 4
10— R
Ll I AR Lol |
05 00 05 10 05 05 00 05 10 05 00 05 10 05
HFB-D1S Bruyéres-le-Chatel HFB-D1S Bruyéres-le-Chatel

Dysprosium 140 (Z=66, N=74) Dysprosium 141 (Z=66, N=75)
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All results for Dysprosium isotopes

Dysprosium 142 (Z=66, N=76)
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Dysprosium 144 (Z=66, N=78)
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Dysprosium 146 (Z=66, N=80)

R/, A*

8R* (fm?)

T AT T T « [} T
4 o Protons Protons
i 2 f R Newons] 'E o Neutrons
2 [ > £
by €l ’ S
uf 10 AN = ] oo B
G . L4 4 T
Protons ‘ R RVAY: € N 0 i
Neurons = /
8. ] / ° s 0B
T T T T \
L AASTATI
R
T (s 4 e Neutrons
s Protons TR
poons oA < Neutrons ~ 1
Neurons 10 1<,
1 I 1 2
b3
T T T €
21
b3
2
T pta ]
4 s
o
\ 2 s
w 1 39
=}
&
* 1 N
bl I | 1
00 05 10 05 00 05 10

HFB-D1S Bruyéres-le-Chatel

Dysprosium 143 (Z=66, N=77)
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Dysprosium 145 (Z=66, N=79)
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Dysprosium 147 (Z=66, N=81)
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All results for Dysprosium isotopes

Dysprosium 148 (Z=66, N=82)
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Dysprosium 150 (Z=66, N=84)
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Dysprosium 152 (Z=66, N=86)
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Dysprosium 149 (Z=66, N=83)
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Dysprosium 151 (Z=66, N=85)
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Dysprosium 153 (Z=66, N=87)
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All results for Dysprosium isotopes

Dysprosium 154 (Z=66, N=88) Dysprosium 155 (Z=66, N=89)

T T T T o T T Aanan T o T
i 4 = Protons 100- ~d = Protons €L 4 = Protons o~
I Saf Neutons] ~ T Neutons 8 Sab Newrons] 100 o Neuitons
1 £ ¥ ] £ £
/ 2 > £ / 2 > <
2 L L s g Soof E it gt 5 Soof E
& g = Sk J 4 T < % sk ] T
proons e R - AW Protons 5 2 AW
., Neutons x N, Neutrons 5
A B ] 4 B ] o 5 10 15
IRARARARARARAL: (RARAR Ranan
I T AN T 1 (fm)
s Protons S Protons
T ] Neutrons PR 3 Neutons Ak Protons  Neutons
S gt sl A B DiiRde A
12 Proans < ~ 12 protons < T ek E
0 Neutrons S Neutrons <
< 1 1 1 q ! 0 ! 0
& i 2 i 4
3 T T € T T £
I3 5 * - 2
1 N q s 1 - b = 2
I fland I flareul
s T s T
> > Re
o 2 S r z < -
e w 2 o w B ~ 7
£ = £ 2 i
B w B w
g o g o
N N
R -F F
Ll T T MY
05 00 05 10 05 00 05 10 05 00 05 10
HFB-D1S Bruyéres-le-Chatel HFB-D1S Bruyéres-le-Chétel

Dysprosium 156 (Z=66, N=90) Dysprosium 157 (Z=66, N=91)
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Dysprosium 158 (Z=66, N=92) Dysprosium 159 (Z=66, N=93)
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All results for Dysprosium isotopes

Dysprosium 160 (Z=66, N=94)

Dysprosium 161 (Z=66,
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Dysprosium 162 (Z=66, N=96)
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Dysprosium 164 (Z=66, N=98)
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Dysprosium 163 (Z=66, N=97)
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Dysprosium 165 (Z=66, N=99)
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All results for Dysprosium isotopes

Dysprosium 166 (Z=66, N=100) Dysprosium 167 (Z=66, N=101)
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Dysprosium 168 (Z=66, N=102) Dysprosium 169 (Z=66, N=103)
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Dysprosium 170 (Z=66, N=104) Dysprosium 171 (Z=66, N=105)
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All results for Dysprosium isotopes

Dysprosium 172 (Z=66, N=106)
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Dysprosium 174 (Z=66, N=108)
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Dysprosium 176 (Z=66, N=110)
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Dysprosium 173 (Z=66, N=107)
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Dysprosium 175 (Z=66, N=109)
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Dysprosium 177 (Z=66, N=111)
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All results for Dysprosium isotopes

Dysprosium 178 (Z=66, N=112)
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Dysprosium 180 (Z=66, N=114)
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Dysprosium 182 (Z=66, N=116)
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Dysprosium 179 (Z=66, N=113)
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Dysprosium 181 (Z=66, N=115)
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Dysprosium 183 (Z=66, N=117)
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All results for Dysprosium isotopes

Dysprosium 184 (Z=66, N=118) Dysprosium 185 (Z=66, N=119)

T T ARA o Aanna adads T T E A
dt 1 % Protons 3 1~ Protons I 1 = Protons - Protons
B 2 Neuronsy M ok Neutrons Bs 3 a Neutons] ( £ o Neutrons
/ 52 3 > 1 £ / b3 ™, > 104~ /] 4 €
< 3 = S - N i =
& oL et E y Soof El < oL SR\, 2 y Soos E
Protons ' © g y ] Protons ' 3 e B
e Y e LN \ N
\ﬁ Neutrons x bt \ﬂ Neutrons 5
£ B i A B 1 \
1 LA AR A i) 1 LA AR AR
hioneflnnnnflnont PRRNT/ARR 1 (fm) Bnsef sl oY ol
S e —~—— s b
LLARR AR AL ] kB — 1 T e rctons (e g 9 Protons T .
) T g ] 113 e ¢ rom 1 F T
12 Pons = S Y 2 Protons P! 1
R Neutons I S W i . Neutons S i
B -1 % v g A
< 2 I I g, { < 1561 1006 ) 3 g
= T e r | 1 2
& ]
1 + = 1 <l #
2t 2 Y
ool al
LAl s et s = T
d =t St Re
o2 o 2 o 4
Ta- 4wt 3 w g~ 3 .,
£ = 2
® w w
i+ 4 r o [ o
“ ki N 9 N
R
i e | I | i nnf Mo A
05 00 05 10 05 05 00 05 10 05 00 05 10
8 B
HFB-D1S Bruyéres-le-Chatel HFB-D1S Bruyéres-le-Chétel

Dysprosium 186 (Z=66, N=120) Dysprosium 187 (Z=66, N=121)
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Dysprosium 188 (Z=66, N=122) Dysprosium 189 (Z=66, N=123)
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All results for Dysprosium isotopes

Dysprosium 190 (Z=66, N=124) Dysprosium 191 (Z=66, N=125)
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Dysprosium 192 (Z=66, N=126) Dysprosium 193 (Z=66, N=127)
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Dysprosium 194 (Z=66, N=128) Dysprosium 195 (Z=66, N=129)
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All results for Dysprosium isotopes

Dysprosium 196 (Z=66, N=130) Dysprosium 197 (Z=66, N=131)
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Dysprosium 198 (Z=66, N=132) Dysprosium 199 (Z=66, N=133)
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Dysprosium 200 (Z=66, N=134) Dysprosium 201 (Z=66, N=135)
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All results for Dysprosium isotopes

Dysprosium 202 (Z=66, N=136)
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Dysprosium 204 (Z=66, N=138)
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Dysprosium 206 (Z=66, N=140)
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Dysprosium 203 (Z=66, N=137)

T T T T T © T
i 1 < Protons ~
Bs Sk Newrons] 156 A %ol Neutrons
2 > £
5 = 2 =
g S Jq Soe E
Protons. N N N < \ N L
N\, Neutrons R Ve E
4 B — . \ |/ 0 5 10 15
AT TV 1 (fm)
prIrrr 3 Protons T Profons_ Neutons
a4 Neutrons 1 P
prtons = r 1 |
14 Neuons WL
WA

En

E (MeV)

ZPE (MeV)
3

HFB-D1S Bruyéres-le-Chétel

Dysprosium 205 (Z=66, N=139)

HFB-D1S Bruyéres-le-Chatel

Dysprosium 207 (Z=66, N=141)
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All results for Dysprosium isotopes

Dysprosium 208 (Z=66, N=142) Dysprosium 209 (Z=66, N=143)
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Dysprosium 210 (Z=66, N=144) Dysprosium 211 (Z=66, N=145)
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Dysprosium 212 (Z=66, N=146)
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